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Calculate the Surface Roughness for a profile using the RMS
value, given that the ordinates of the profile measured from the

mean line are in the following table:
point I 2 I 4 5 o
Ordinates (inches) 0.21-0110.35-0.22-0270.15

Note: the vertical magnification factor is equal to 100000
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X quiz _2 section 1 (7]

Given the following for a shaft and a hole system:
I. The upper deviation of the shaft is equal to ( -0.10 mm )
2. The basic size of the system is equal to 30.00 mm.
3. The lower deviation of the hole 1s equal to 0.30 mm.
4. The maximum clearance between the shaft and the hole is
equal to 0.80 mm.
5. The tolerance of the shaft is equal to 0.10 mm
The required is
|. Draw a simple sketch for this system
2. Calculate the following for the shaft
The lower limit , the higher limit , upper deviation, the
lower deviation, the fundamental deviation. the tolerance.
the Maximum metal limit, and the minimum metal limit.
3. Calculate the following for the hole
The lower limit , the higher limit |, upper deviation, the
fundamental deviation, the tolerance, the Maximum metal
limit, and the minimum metal limit.
4. Calculate the minimum clearance between the shaft and the
hole.

Show your calculations
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Recording is saved in the chat history. %
Learn more

A shaft of 50-0292 is to be assembled with a hole of of §

1. The maximum diometer for the shoft

2. The minimum diometer for the shoft is -

). The moximum diamete
The minimum digmeter for the hole is
The type of fit in this system is colled --
The tolerance of the shaft is equal to

7. The tolerance of the hole is equal to

The upper devigtion for the shaft

The lower deviation of the shaft is -

The fundomental deviation of the shaft is
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